6 — DMP — PRE TEST (3 QUESTIONS). LEVEL:

| FIRST NAME, LAST NAME: | CLASS:

Aspinner hins 12 equal-sized sections, The sections are Inbelled 1 through 12

Wiar 12 the probabalny that Frieda ol spin a mudtiple of 3 on ey Orst spin?

i
Txplam hove vou know,

The probabaliy is




EX] Jane has a package of 40 cards: 30 of the cards
are red and 10 of the cards are black. T Jane
randomly picks 8 cards, how many cards should
she expect to be red?

A 2
B <
C &Y
D 8

Justify your answer:

iEl Sara draws the spinner shown below. It is
divided into 5 egual sections.

L

I oy

If Sara spins the arrow 35O taimes, how manss
times slhould she expect the arrow to land on
section B

A s

B 10
C 25
2 %45




6 - DMP —~ BENCHMARK TEST #1 (2 QUESTIONS). LEVEL:

| FIRST NAME, LAST NAME: | CLASS:

FH Farzad puts the fellowms 10 cards o a bag

S — Jo—

—
:
|
]
:
i

Farzed raplovnly selects ome cand, reronds the resudt and puts e card back into fhe bag. If e doss
thiv 390 times, how many grees i 18 Belv thathe will select a cand wrth z vl {8, £ L O TF

E|N T

Fastify vour aneswer

Lucas has 5 t-shirts in a drawer: 1 red, 2 yellow, 1 pink and 1 blue. He selects one
t-shirt without looking. What is the probability that Lucas selects a t-shirt that is

not pink or blue?

a) 1/5 b) 2/5 c) 3/5 d) 4/5

Explain your answer:




6 — DMIP — BENCHMARK TEST #2 {1 QUESTION). LEVEL:

l FIRST NAME, LAST NAME: | CLASS:

&2 Dakota and Brvan cowt their colowred paper clips and record the results in the table balow.

Cplour Dakota Bryan
Fed : 4 18
alow ¥ &
Bius & 5
White iT 20

They put ali of the paper clips 3 box. Dakofa chooses one paper clip fom the box withowt
leskag.
Dieternune the probability that Dakots chiooses a red paper clip.

Show vour work.



6 — DMP —~ BENCHMARK TEST #3 (2 QUESTIONS). LEVEL:

| FIRST NAME, LAST NAME: | CLASS:

Keenan places 3 green marbles, 4 vellow marbles and | blue marble ¢ 3 bag.

Keenan then adds 1 green marble and 1 vellow marbie to the bag.

Does the srobabiliny that Xeenan will randomly choose 3 vellow marble increase, decrease or siay the
" i P A R =

same?

Curcle ong: Increases Decreases Stays the same

Justify vour answer.




B There are 2 blue, 5 green, 6 red and 7 purple
marbles in & bag. Erin picks one marble from
the bag without locking.

What is the probability that she will pick a
marble that is purple?

a %
b 20%
¢ 35%
d 54%

Show your work to prove your answer:




6 — DMP — POST TEST (4 QUESTIONS). LEVEL:

| FIRST NAME, LAST NAME: | CLASS: |

#d Tori has a bag of 24 gumballs. She takes 8 gumballs from the bag without looking. The colowrs of the
§ gumballs Lort takes from the bag are 4 red 3 blue and | vellow.

Using the colours of the munballs Lori takes from the bag. predict how many gumballs of each colour
were 1n the bag to start.

Explain vour thinking.

#4 The faces on a fair number cube are labelled
i,2, 3.4, 5 and 6. Steven rolls the number
cube 48 times.

How many times should Steven expect to
roll a 37

a 3
b 8

c 16
d 24




Crry whiiclh colowr will thhe arrowss Tamdl ~writi
a probability

= 4

]
o
il

el
iue
Sreen

e llosss

ot .27




Ll Hemrv designs the spinner below and labels
the sections with the names oF rolovrs,

He wants 0,13 to be the probability of the
amow landing on “hine” m ome spin.

How many sections shonld ke label “bing"7?

a 7
B 3
I
g 17

Show your work and prove your answer in the space below:




